Market Leader (Intermediate) 3rd Edition, Course Book
To-do list (список завдань):
1. P. 56, P. 148 - Grammar ‘Describing trends’
2. P. 54 ex. A. B. C. 
3. P.57 ‘Dealing with figures’ 
4. [bookmark: _Hlk100845835]P. 57 ex. A. B. 
5. P. 57 ex. C. (in writing)
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UNIT6 = MONEY

LANGUAGE REVIEW

We can describe trends in English in different ways.
Describing 1 Verbs of change

trends Demand for BlackBerries has soared in recent years.
Sales are folling.
Profts improved in July.

2 Prepositions
Profits rose 5% to $1.4 bllion.
The sales of Dupont have gone up fram $19.6 billion to $27.4 billion.
Sales rose by 20% over the holiday period.
This represents a decrease of 16.4% from the first quarter.
The average retail gasoline price stood ot $4.11 a gallon yesterday.

3 Different verb forms.
The figures paint a gloomy picture forJapanese growth. (present simple)
The unemployment rate isrising. (present continuous)
Lost summer, our market share fell. (past simple)

Look at the graphs below. Complete the sentences about them with
appropriate prepositions.

. “ This year, orders from Brazil have levelled off. (present perfect)
m |&/,“ Ifthe price of petrol ises further, we'll make a oss. (frst conditional)
Grammar reference page 148
3 4 3 Wwhat kind of movement do these verbs describe? Match them to the
'symbols (1-11) on the left. Then compare your answers with your partner.
(You will need to use some symbols more than once.)
i ¢ y )
decline increase double level off decrease peak
5 6 gain rocket fall triple fluctuate  rise
drop plummet halve recover improve jump
2 L/i
i B Which ofthe verbs in Exercise A also have noun forms? What are they?
7 8 EXAMPLE: To increase — an increase
S [

i 1 Sales have increased.......... €5m e7m.
2 Sales have increased.......... €2m.
‘\/ J 3 There has been an increase €2min our sales.
4 Sales now stand.......... €7m.
5 Sales reached a peak &7min luly.
6 Sales reached a low point €1m in April.

B write two more sentences about each of these graphs.

Emiions

Lestyear  Tsyear [N
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Dealll;ig ‘l'l'r';: YEARS DECIMALS
s 1984 nineteen eighty-four 165 sixteenpointfive
2012 two thousand and twelve 17.38% seventeen point three eight per cent
or twenty twelve 0.185  (nought /zero) point one eight five
CURRENCIES FRACTIONS
£3.15 three pounds fifteen 1 aquarter 1 ahalf
$7.80 seven dollars eighty el 3 thisiuates

€250 two hundred and fity euros
¥125 one hundred and twenty-five yen

BIGGER NUMBERS

3560 three thousand five hundredand sixty (Br)
three thousand five hundred sixty (AmE)

598,347 five hundred and ninety-eight thousand, three hundred and forty-seven (Bi€)
five hundired ninety-eight thousand, three hundred forty-seven (ATE)

1,300,402  one million three hundred thousand, four hundred and two (BE)
one million three hundred thousand, four hundred two (AmE)
im one /a million (1,000,000)
30 three billion (3,000,000,000)
$7.5bn seven point five billion dollars
€478m  four hundred and seventy-eight million euros (Br€)
four hundred seventy-eight million euros (AmE)

If you don't specify an exact amount, a plural is used.
It cost thousands of dollars. They spent millions of euros.

3 Workin pairs. Student A, turn to page 136 and read the text aloud to
Student B. Student B, listen to Student A while reading this article.
Correct any incorrect information.

. FISE 250 fell 189.1 poinis or  Airways, down 5.2 per cent (o
usiness 19 per cent 109.534.8. 225%p, fell even further after

W Only eight blue-chip stocks  Morgan Stanley cut its target

managed to make gains. The to 149p. This was because

. .
m bflef best was Smith & Nephew. 25 of worries about increasing

Shares in the medical devices  fuel prices.

I was a bad day for the  grouprose2 percent t0595%p Tate and Ly, the sugar and
London market. Following 15 after UBS upgraded the stock  sweeteners group, lost 32 per
disappointing results from 10 a ‘buy’ recommendation. cent to 4024p after CityGroup
FedEx in the US and fews  S&N was also supported by % lowered its forecasts because
S of a credit crunch, e FTSE  rumoursof abidapproachfrom  of rising com prices. Following
100 fell 105 points or 18 per @ Japanesc company. recent floodsin the US. the cost
cent to 57569, while the 3 On the other hand, Briish of com has risen 25 per cent.

I} <0 co1.40 Listen and check the pronunciation of the figures.

Write all the numbers from the correct version of the article in Exercise A
iin full, according to the way they are pronounced.

EXAMPLE: 105 points a hundred and five points
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Articles

The indefinite article: a/an

Weuseaanin the following ways:

1 before unspecified singular countable nouns.
She works inan office.

2 with the names of professions.
She's an executive and he’s a manager:

3 in expressions of measurement.
We charge $500an hour:
Itsellsat €1.75a ltre.

4 before a noun to mean all things of the
same type.

Aloss leaderis an article that a store sells
ata low price to tempt customers to buy
other goods.

The definite article: the
We use the:

1 when itis clear from the context what
particular thing or place is meant.

Pll meetyouin the reception area.

2 before anoun that we have mentioned
before.
Theyhad a villain Cannes and a chalet in
Innsbruck, but they sold the vill.

3 before adjectives to specify a category of
people or things.

the rich, the poor, the French, the
unemployed, the World Wide Web.

Zero article: (0)

We do not use an article before:

1 mass nouns used in general statements.
(0) Moneyis the root of all (0) evil.

2 the names of places and people.

(9) Poland, (9) Japan, (9) Dr Spock,
(9) President Obama

u Describing trends

1 Todescribe changing circumstances, we can
use verbs of movement.

improve increase recover rise ()
decline  decrease drop  fall (%)
Adramatic movement may be expressed by:

rocket soar @)
dive plummet ™)
Aslight movement can be indicated by:
edge up )
edgedown dip ~

The amount of increase can also be
indicated using these verbs:

halve. Ch)
double (x2)
triple x3)
quadruple (x4)
increase tenfold (x10)

Or with a preposition:
Our business grew by 15% last year.

Sales have increased from €5 million to
€58 million.

2 Changes which have not reached their
end-point are expressed using ng.
Profits are falling.

Unemployment has been rising.

If the change is complete, we use a perfect
tense.

The government has privatised the rail
network.

Sales have increased, and that has meant
higher profits.




